Sequences (7 l)

A sequence is a function whose domain is a set

of consecutive integers. If not specified, the domain
starts at 1. The values in the range are called the
terms of the sequence. o, = |

Finite sequence: 4, 5. 3.1\, )4 &=
infinite sequence: A, (; !}, ETET
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Series Z =5V

When the terms of a sequence are added together,
the resulting expression is a series. A series
can be finite or infinite. 5T X
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Graphing a sequence ;: '
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Do not connect the dots. The sequence is a set of points,
not a line.



Graphing a sequence
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Do not connect the dots. The sequence is a set of points,
not a line.
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Types of Sequences/Series

Arithmetic
Geometric

Other

Rules can lgg

explicit o= |ln+2

recursive
0.=2
a.ﬁ:' 3’0.“_[




Find the first 5 terms of the sequence.

Q=202




Summation Notation (aka Sigma Notation)

Ciad the som
Yy 0 | * 5 ‘
22“:0? +O?-(—;2 +g+2 = Bl
n=o0



7.2 Arithmetic Sequences and Series

Arithmetic sequence: A sequence whose consecutive
terms have a common difference (slope)

61q1131l7/"" d-"—-L}
G, 14, (2,10, - d=-2

Arithmetic sequences ck — a; a, = Rb' au—-
are linear



Writing a rule for the nth term of an arithmetic sequence
(explicit formula) (linear equation)

V=Y, M x=%)

T 64, Cpyentes




Write a rule for the nth term. a% = \7 d - 9

O, ! 1 d =3 @n:ﬂr"[f\‘ﬂd

| 7= a,+(3-)2
A =0+ (-1 17=a,4

=13 Qp=! 5_#(“’32 _—) )=

2,15
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Write a rule for the nth term.

Ay, = ST
NL: (d-2 (LA = {]Lti—fﬂ—ﬂé‘
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Write a rule for the nth term.

2{114/7/ 01_7/,;. :

=2 = 2+ (D)
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n=>o



The sum of a finite arithmetic series
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Find the sum of the arithmetic series.

i 3n-|
n=1
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Find the sum of the finite arithmetic series.
94—(0-(*]0"’..,"‘58
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The corner section of a football stadium has 15 seats in
the first row and 40 rows in all. Each successive row
contains two additional seats. How many seats are in

this section? aﬂ:_ a,+(f\" /)cf

N1=9D Q= 1s+lD™ \\ﬁvzﬁb
L= {5/0%“573 15 seats
= = Sl
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3 = 90 (198) g
2/ = 2160



